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Answer any Five (5) Questions from the followings.

4
I. Y Differentiate between SRAM and DRAM. 4
b) Explain Moor's Law in Computer archifecture. ‘ 4
¢) Regarding Cache design, write short notes on the following:
i) Hit time
ii) Miss penalty
2. &) Ininterrupt handler, analyze the step(s): (i) no interrupt, (ii) interrupt pending. 4
,/57 How much memory space 8080 will provide that has 16 bit address bus 7 2
¢) Describe with figure: Asynchronous timing diagram for system bus Read/Write 6
cycle.
3. a) Analyze the concept of “Write Back” in order to avoid the bottleneck of “Write 4
Through”.
Let’s design a cache of 64kByte. Main memory is 16Mbytes. Cache block is 4 &
bytes (2 bit word identifier) and rest of bits is block identifier. Use the concepl
of direct mapping address.
4. a) What are the differences among direct mapping, associative mapping and set- 4
associative mapping?
b) Assume that there are three (03) small caches, each consisting of eight (08) one- 5
word blocks. One cache is fully associative, a second is two-way set associative,
and third is direct mapped. Now, find the number of misses for each cache
organization given the following sequence of block address:
0,806,8
¢) List and briefly define three (03) techniques for performing /0. 3
5. a) Explain the performance of a processor. 3
¢) Von Neumann computer architecture is the basic computer architecture for the 5
modern computer. Explain this.
d) Deseribe the multiplexed bus with advantages and disadvantages, 4
6. a) Describe the necessity of /0 modules? _ 3
b) In Direct Memory Access (DMA) operation, describe about “Cycle Stealing” 6
¢) Describe O/S as a resource manager in /O controller, 4
7. a) By Showing the major components of a CPU, briefly describe how a CPU waorks, 2
b) Distinguish between RISC and CISC processor. . 5
¢) How Stack is organized in CPU ? With proper block diagram, deseribe following 8
ypes of stack: (j) Register and (ii) Memory Stack,
L D-ESl:‘l'ibc how ap assembler works with its two phases. | _ _ 3
Distingujg}, between 0-addresses, 2-addresses, 3-addresses instruction with the 4
b) xample g =y 4 ¢,
_Wnte W0 short notes from the hﬂln_‘"f:
]) DP":DEIE. ii} Machine La“guagc, III) VECID!’ PI‘OL‘.ESSU]’.
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